
Well done to Chloe (8N) who successfully 
answered last month’s puzzle!

Submit your answer either to your Maths teacher, to Miss Bush in M1, or by emailing 
hbush@willink.w-berks.sch.uk

Make sure you submit your answer on or before Friday 29th April!

The Willink Monthly Maths Puzzle
April 2022

Four friends each have some Easter 
eggs to give to their friends. 
Tom has 3 more than Mia.

Darcy has 5 more than Lucy.
Darcy has 2 more than Tom.

Mia has 6 eggs.
How many eggs do they have 

altogether?

Place each of the symbols into the grid below. 
But be careful – the same item cannot appear 
twice in any row, column or within any block 
of 6 squares!

James and Jess go on an Easter egg hunt. Starting 
from their home, they walk in a straight line on a 

bearing of 160o for a quarter of an hour, at an 
average speed of 1.5m/s. They then turn due East and 
walk in a straight line for 1km. Calculate the distance 

and bearing of their destination from their home.


